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QUESTION ONE (12 marks) Start a new page.

(a) Calculate:
@) 6—3—5
(ii) —54+6 x (—3)
(it} (—4)* 43 x (-5)
(b) Calculate:
(i) 1-634 x 100
(i) 0-3 x 0-2 x 04
) (L9
(iv) 36+ 012

(¢) Express the following as percentages:
@) 0-18

(@) 3

(d) Calculate:

~ a 20
(i) E X7
3.3
(ii) 377
. 2 3
(iii) 3tz

Exam continues next page ...
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QUESTION TWO (12 marks) Start a new page.
(a) Simplify:
(i) 2m —3n—m
(i) 3¢ x 2¢
(lil) gl2 _:_94
(i) @°)?
(b) .Find the value of 8 -~ 3p? when p = —1.

(¢) Expand:
(i) 5(3w —2)
(i) —3a(2a —1)

(d) Factorise fully:
() 3m—12
(i) 159%h — 20gh*
(e} Express the following as single fractions in simplest form:

« Tm®
) idm

. 20 a
W5 +3

Exam continues overleaf ...
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QUESTION THREE (12 marks) Start a new page.
Refer to the diagrams below, and in each case find 8. Give reasons for your answers.

()

6\ 125°
(b)

/A
50°
/
/
Aoc’ 0%

(c)

(d)
.~
/
DR
_
(e)
/ 1320
s
()

Exam continues next page ...
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QUESTION FOUR (12 marks) Start a new page.

(a) Write 35% as a fraction in lowest terms.

(b) Find 65% of $240.

(c) Jane scores 32 in her Geography test out of a total of 80. .Calculate her mark as a
percentage.

(d) Jimmy earns $40 every week delivering advertising flyers on his bicycle. His boss
decides to increase his salary by 5%. Calculate his new salary.

(e} Bob the builder spends 18% of his weekly income on timber. If he spends $288 each
week on timber, calculate his weekly income.

(f} A motor bike originally priced at $8000 is discounted by $640. Find:
(i) the price paid,

(ii) the discount as a percentage of the original price.

QUESTION FIVE (12 marks) Start a new page.

(a} Simplify:
(1) (3pg)® x 5g
12p  18p
( ) _5-; = 2542

(b) Write an inequation to describe the set graphed on the number line below.

(¢} Given the formula V = 3u® — w, find the value of V when u = 2 and w = —5.

(d) Solve:
(i) 3m+5=4m—3
(i) 2(3h 1) = —

oy OO .
(i) Z—'f—

Exam continues overleaf ...
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QUESTION SIX (12 marks) Start a new page.
(a) Given a = —1% and b= 1%, find:

(i) axb

(i) et+axb

0-008 x 1-08 x 0-2
0-05 % 1-2 x 0-072

{(b) Calculate:

342
(¢} Express E 2 as an improper fraction in its lowest terms.
d 4

{(d) In a raffle there were two prizes. After the rafflé was drawn, it was found that 0-02%
of tickets had won a prize. How many tickets were sold?

(e)

The diagram above shows a piece of rectangular cardboard of length (3z —2)cm and
width 3cm. A smaller rectangular piece of width 2cm and length (:1: + 1) cm is cut

from the cardboard leaving an area half the original area.
(i) Using the given information, form an equation in z.

(ii) Hence find the area of the original rectangle.

HEixam continues next page ...
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QUESTION SEVEN (12 marks) Start a new page.

2
- (a) -Express 1+2_m___n3 Sm

3 5 + 10 “as a single fraction in ifts lowest terms.

'(b) A man pays $81 for a shirt which includes a sales tax of 122%. What was the price
of the shirt before the sales tax was added on?

(c) Solve 3(2p— 1) - 2(p — 4) = —15. '

Gy

In the diagram above LPSR = o, RS = RP and QF = QR. Find an expression for
£LPQR in terms of a, giving reasons. ' '

(e) My grandfather is presently five times my age. Tn ten years time he will be three times
my age.

(i) Suppose that my age now is n. Write two different expressions in terms of 1 for
my grandfather’s age in ten years time.

(ii) Find my age now.

Fixam continues overleaf ...
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QUESTION EIGHT (12 marks) Start a new page.

(a) Simplify:
(@) &+ 4+ 4+ 4

(ii) (0-4 + 0—2) 2

(b) Jerry has a piggy bank that contains fifty coins consisting of only five cent and ten
cent coins. 94% of the coins are five cent coins. Jerry takes some of the five cent coins
from the piggy bank, and now only 90% of the coins in the piggy bank are five cent
coins. How much money did Jerry remove from the piggy bank?

{(¢) (i) Consider the sequence of match-stick diagrams below.

IR

—— —— — ——— * -

How many matches are required to build the tenth diagram in the sequence?

(ii) Now consider a second sequence of diagrams.

Do -

How many matches are required to build the 100th diagram in the sequence?

(d) Two water tanks of different capacities have their taps turned on simultaneously and
begin to empty. The smaller tank takes 6 hours to empty and the larger tank 10 hours.
After 4 hours, the amount of water drained from the smaller tank equals the amount
remaining in the larger tank. How many smaller tanks of water would be required to
fill 9 of the larger type of tank when empty?

END OF EXAMINATION
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